el/E3 MM 7|E
H|PIHS RB M&

00| E1 2 | ABko] XEMICH B4 J10| HEE E/E3 ML 21 RB M2|X0| /%88 7| I7|X|2 YI20|S FaLict, =
HHEY SHUA| SIS 323 7|520| HBE 2 I|ES Eof, U0, FEUX S Ch HE| IS e 4 QAL Eot of2y

o =
Mz SFoll HB5H0] Fof 2 28 ARt 22 2t obHot HYS 2 EfLICt.

EXI v RBAJ2|X(RB3,5,10,16)0]| £|Z{3}=!
8/E3 4 2918 7|E (M 2E U N2 ZB
v OO TIRE AT, X et KM A S Sl
ICERIEEY
QI WS 2E0) 2 PlugdPlay 25 X/9)

v EIE HEIE U 2418 419 7)5 X9

—L——

<

[~] | - =
DY AFT200-KIT-RB e
v ElY HHEO|M HHZ AR PHs Tt &R0 J|s
v 2 E5Hs St 55 dX R 8X 7l5 + Ots
S8220F v 2@X0]2|=0| Zast oot 37H0 S8 7t
(BalY, M, a2ty 5)

3 YouTube | » = . 1 )

Hgoks oY
RB3/RB5/RB10/RB16  H|O|S/2E X% 3H AOEMEZ|/AtES2} 2t




AIDIN ROBOTICS

31/E3 A
7|E Mz
dQl22 RB HE

At

3 YouTube

Number Part Product

Quantity Explain

1 FS004 AFT200-D80-C-H 1 CAN Hole Type

2 BSO012A AFT200-D80-FLG-R-A 1 E24x| 258 1S09409-1-50-4 / Pin hole 4 74
3 BSO13A AFT200-D80-FLG-T-A 1 E7X| B 1S09401-1-50-4 / Pin hole 4 7}
4 E0021A TIE MOUNTS 3 0|2 Ef0| OIRE 25 (E2E 39 22)

5 E0016A PIN-SUS-M4-10-H7M 2 Pin M4 10mm SUS H7(-) IS08734

6 EO017A PIN-SUS-M6-14-H7M 6 Pin M6 14mm SUS H7(-) IS08734

7 HSO019A RB Cable SET 1 RB TE 0|18 ME

8 E0020A CABLETIE 3 LI E HolE Efo|

9 EOO15A BOLT-M5-35 6 BOLT M5-35mm (SCM)

10 EOO014A BOLT-M5-10 4 BOLT M5-10mm (SCM)

11 E0023A BOLT M6-12 4 BOLT M6-12mm (SCM)

Index Unit Value

Weight g 505(Sensor 2369, Bracket 269g)
Operating voltage VvDC 5

Max. Safe excitation voltage vDC 12

Nominal force range N 200

Norminal torque range Nm 15

Resolution(Fxyz) N 0.15

Resolution(Txyz) Nm 0.015

Dimensions mm D80 * H52.3

IP Rating IP56

Operating temperature 10-60C

V' 031-360-7926
WV sales@aidinrobotics.co.kr

v https://www.aidinrobotics.co.kr
Vv A= QHYA| St AR 2327 A 12-20, 55



	센서키트_RB_앞(KOR).pdf
	센서키트_RB_뒤(KOR)

